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[Q1 20%] Muttiple choices:
1) Which access modifier, used when defining a member, indicates that only one |
such member is available for all instances of the class? !
O A) | final e !
O B) |private ’
R O) | protected—"/\ |
static ,/, ’
S—
2) In order to declare a constant, the declaration must use which Java keyword?
OA) iint
" WB) | final
O Q) | static
O D) i void
3) Suppose a String variable s is initialized to the value ”yj’{%ftance". What value
is returned by the call s.substring(2, 5) ?
OA) | nher (i R s ¥
O B) | nheri X 2
O Q) | heri 2 ‘3"."/’ AN
R D) | her
-4) How many constructors can a class have?
O A) | Exactly one
O B) | At least one but no more than three
O C) | Exactly the same as the number of data members
, X D) | Thereis no restriction on the number of constructors

"




Suppose c1 and c2 are objects of the class Circle. ACircle has a single data member, its

5
‘ ) radius. The Circle class has a default constructor (implemente.d correctly), but no
all A N other methods have been defined in the implementation of the Circle class. What will
C/Q e happen when we try to execute this code?
[ oz Circle c1 = new Circle(12.0);
Circle c2 = new Circle(12.0);
Ch ——= m boolean same = (c1.equals(c2)); J
O A) | The code will not compile because equals method has not been implemented in Circle. j
Cz : @- X B) | The value of same will be faJse. l
O €} | The value of same will be true. 1}
[V D)} Ihevaiue of same will be 1. J
6) Consider the following code that appears in a test class. /
A a = new A();
intc=a.b; [
In order for this code to work, which statement must be true? /
O A) | a must be declared public inside class A /
5 XB) b must be declared public inside class A o : T
O Q) | c must be declared public inside class A B e s gy
O D) | Method b( ) must return int I
7) In Java, a class can extend . ﬁ,
X A) | at most 1 class 3
S Er e e e A I
= ©-€){-atmost-32-classes St el R
O D) i as many classes as required 7‘ R
8) A method in a subclass is said to an inherited method if it has the sanﬂ
methqd declarations as the inherited method.
O Mieopy Y 55 |
(X(B) | eferlodd\ q
o | overrifle - f
O D) | cancel Ay ‘,’
| 9) If the ﬁéld modifier is specified in a method definition, the method cannot bﬂ /
{ overridden by a subclass. - | /
OA ublic
O B; 'p::rotected j /
O C) | abstract 4 [
3XD) | final %
10) The ______ access modifier hides the members of a class from the class’s clients but | /
makes them available to a subclass and to another class within the same package. ﬁ! |
T Aj i piivaie J |
O B) | public ] |
() | protected ,] {[

O D) | package access
z |
./ L" £ g
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[Q2 30%] What is the output of the following code?

|

Code

1 | public dass Test{

public static void main(Stringf] args) {

int{] list1 = {1, 2, 3}; g W 1Y
int[] list2 = list1; (&l 10N

list2[1] = 100; .
System.out.printin(list1[1]); ‘
!
}
2 public class Test { )
public static void main(String(] args) { =
int{] x={1, 2};
inti=2; ¥ 7 = <
m(i, x); L’ e = 7 £
System.out.print(i + "," + x[0]}; oy 2
4 YSt p ( x[0]) \ b 2
public static void m(inti, intf] list) { /
i=9; Py s
list[0] = 9; PR ¢ |
__}_ ____________ = _:‘;J_ 4. v /;'
| ST L e e 0 e
= public dass Test { ’ e e i 0

public static void main(String{] args) {
int[l0 x=1{{2, 1, {1 7, 2}%;
system.out.printin(m({x[1]});

. IR

public static int m(int[l m) { M
int result = 0; :
for (inti=0;i< m.length; i++ a0
result += m[il; 5u({- = ’*7“‘
return result; v = (O

¥ o/

¥
4 public class Test {

/.
public static void main(sy“gﬂ args){
Aal=newA();

Aa2=new Aé)ij i/ e
System.out.prjnﬂn 21.equa -

}
} PeITY
dassA{ g L/

}int x=1; S 7=l
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public class Test { ; [3 q’
public static void main(String(] args) {
A al =new A();
System.out.print(al.jl; > Pt
A a2 =new A();
System.out.print(" * +a2.j); b
}
}
class A =y

inti= fl; S

Staticint; =72,

Al {
i++;
i+

}

i

oY
96“’0\‘\

import java.util.*;
public class Test { [ | ’ 2]

public static void main(String(] args) {
ArrayList<integer> list = new ArrayList<>();
) #

- listadd(1); : :
v L list.add(2); f( s ’g’% [

list.add(3); ‘(\OL‘}

tistremove{z); 3. i i ;
System.out.printin(list); R RN T R TR (T o s i e A
: y: P (list) 0 : P!
} L“s\". (’,«J?A(‘/L 3 o
public class Test {

public static void main(String(] args) {
new Person().printPerson();
new Student().printPerson();
}
}

class Student extends Person {
private String getinfo() {
return "Student”;

}
}
class Person {
private String getinfo() {
return "Person”;
} nr
puliic void priniersoing 1
System.out.println(getlnfo());
}

}




T s P
public class Test {

publ.ic static void main(String(] args) {
Ob{ect circlel = new Circle(); s«
Object circle2 = new Circle(); ¢\

System.out_printIn(circIel.equaIs(circleZ));

class Circle { e
double radius = 1;

public boolean equals(Circle circle) {
return this.radius == circle.radius;
}

}

Fols €
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public class Test {
public static void main(String[] args
new A();
new B();

}

} :
class A{

inti=%:
~ public AQR{
—tiny.
System.out.pn'ntln("j\from Ais" @
piblicvald-entminy .
thisi=3%i;

} 1
} "
class B extends A { 4
public B){ _— $%s~4 o
Systegn.out.prinﬂn("i from Bis" +i);
}
public void setl{int i) {
this.i=2*1;
}
4.3
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public ciass Test {

public static void main(String[] args)
String s = "Java"; 3 : :
StringBuilder builder = new StripfigBuilder(s);
change(s, builder); \
Systern.out.printl n{s);
System-out_println(builder);

t

private static void change(String s, StringBuilder builder) {
s=s+"and HTML"; sa W
builder.append(" and HI_ML"); VoS
3\_‘_’/,//'

Javea
JG\V‘A cmo’ HTML—

}
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[Q3 25%] What problem arises in compiling the following programs (if any), suggest a fix to

the compilation error(s):
' Program

Error (if any)

|

1 public class C {
private int p;
public C() {
System.out.printin("C's no-arg constructor invoked");

}

public Clintp) |
P=p;

}

public void setP(int p) {
P=p;

}

}
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public class Test {
private int id;
public void m1() {

this.id = 45;

}
public void m2() {
\ Testid = 45;]
e

}
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3 public final class A {
inti;
public void m() {}
}

“public void m1(String[] args) {
System.out.printin(i);
m();
}
}

A a (al cass
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4 | packagepl;
public class A {
/. -
protected int i;
void m() {}

}

package p2;

mrthlic rlace B exvdbends A {
public ciass © extens

public void m1(String[] args) {

Sistem.out.pn’ntln(ﬂ;

}
}
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